Generally thoughi
WRITE(P!,P2,eeee P 15 equivalent tol

BEGIN WRITE®P1) WRITE(P2) weveers; RRITE(Pn) EXDS

The write parameters P1,F2,.eeeePn can have one of the following formss
{gd> or <{e'mO aor <{eimind) or {e:miD

where @, m and n are expressions and H is a literal constant.

We have S cases to examinel

11 @ is of type integer: and mther <ed or {eim> is used.

The value of the integer exoression @ is converted t2 4 Character string wit

a trailing scace. The length of the string tan te inTreasec (Wil ieac:ngd
spaces) by the use of m which spexfies the total numder of characters to be
output. If m 1s not sufficent for .@ to be wnttenor m 1§ nct present tren
e is written out in full, with a trailing space, and m 1s gnorec. Note that,iif
m is.specfied to be the length oFf e without the trauing sgace thenog
traling space will be cutput,
)
2] e is of type integer anc the form KeimiED is used.

In this case @ is output in hexacexmmal. If ms1 or ms. -ner *he valie ¢
MCD 1&6~m) 1s output 1n & width of @xactly m Chacastess. I ™=2 2k m==
then the full value cf e s output n hexatecmal 10 4 «igth cf & TavatiETS.

17 mD& tnen leading scaces are 1nserrec before the “ull'"ezalen Tao valle o
® as naceEssary. —eacing reroes willdDe iNsert2c ~here apuucaple Zzaac.es:

WRITE(0ZS:m:E);

m=1 outputs: 1
me2 outputs: Ot
m=3 cutputs: (401
m=4 outcuts: 0301
m=S outputs: 0401

31 e 1s of type real, The forms <2, {em> or Celmin’ may be used.

The value of e is converted to a Character stming resresesting 2 rRa. NLTTEr.
The format oF the regresentaticn 1s determines Dy Ne

18

-

ol

e
LR LA e

- ——




